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Prof. Varadraj Bapat
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Indian Institute of Technology, Bombay

Lecture - 12
Case Study: JSW Ispat Steel

[FL]. While our continuing of our discussion on marginal costing CVP, BEP, short term
decision making we have discussed various cases. Today, let us see how taking a real life
scenario we are able to compute break-even point or we are able to make some decisions
taking the real figures. So, I hope you have taken the print out of this case. Let us try to

solve it together.
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Profit & Loss account of JSW Rs.
ISPAT Steel Cr.
Product | Product
Total LineA  LineB

Cost% | Cost%

Net Sales 11,105 | 70 30
Cther Income | -162 |
Raw Materials | 7644 65 35
Power & Fuel Cost 1,993 80 20
Employee Cost 261 | 65 35
Other Manufacturing Expenses 159 | 70 30
Seling and Admin Expenses 23 65 35
Interest 180
o
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So, we have been given profit or loss account of JSW Ispat steel. They are primarily
operating on two product lines. So, these are the actual figures from P and L net sales,
other income, raw material, power fuel, employee cost, other manufacturing expenses,
selling admin, interest. Then a break up is given about each of these costs because there

are two product lines A and B.
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Uther Manutactunng Expenses | 15 | U] 30
Seling and Admin Expenses | 231 65 | 35
Interest 180
Cost structure
Directcost % |
Raw Materials | 100
Power & Fuel Cost 80
Employee Cost 7
Other Manufacturing Expenses |~ 60
Admin Expenses 10
Seling Expenses | 60

Selling and Admin Expenses-
geak up
o : % Expenses 80
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Cost structure has been estimated that what is a percentage of direct costs. So, raw

material is 100 percent; power 80 percent; employees is 70 percent and so on.
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Admin Expenses |10
Seling Expenses 60

Selling and Admin Expenses-

break up |
Seling Expenses 80
Admin Expenses 20

Allindirect costs are fixed.

Admin, Overheads are common costs and cannot be linked to any product-line.
The break-up of other costs is given,

Kindly compute costs
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Since the costs of selling and admin is given together break up is given for selling 80
percent and admin 20 percent. All indirect costs are fixed. Admin overheads are common

costs and cannot be linked to any product line. The breakup of other costs is given.
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Profit & Loss account of JSW Rs.
ISPAT Steel Cr,
Product  Product
Total LineA  LineB

| Cost% | Cost%

Net Sales | 11,105 | 70| 30
Other Income | <162 |

Raw Materials | 7,644 | 85 35
Power & Fuel Cost | 1,893 | 80 20
Employee Cost | 281 65 | 35
Other Manufacturing Expenses | 158 | 70| 30
Seling and Admin Expenses | 231 65 | 35
Interest 180
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So, this particular breakup is not applicable to admin overheads, but for other things you

can break them down as per the given percentage.
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Product | Product
| Total |LineA  LineB
Total Employee Cost
Variable Admn Expenses
Variable Selling Expenses
Operating profit
PV RATIO
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Now, you are required to compute following. A few things have been asked like for
example, total employee cost broken into product line A and B; variable admin expenses

again broken; variable selling expenses; operating profit and PV ratio.
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Vanable Admn Expenses
Variable Selling Expenses
Operating profit

PV RATIO

Advice on short term decision and
Compute resultant operating profit for the company

1. Which productline should be focused, if total sales can be increased by 20% for any one
product ing, )
_Revisedfigures | Total |
Total Contribution
FC
Revised operating profit

ﬂrﬂwich praductline should be focused, if Direct labour is in short supply
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And, then we have to advice the management on certain short term decisions and

compute the resultant operating profit based on those decisions.

Now, which product line should be focused if total sales can be increased by 20 percent
for any one of the product lines? So, assuming that you cannot go for both the lines any

one product line you can increase the sales. So, which one will you focus ?
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Advice on short term decision and
Compute resultant aperating profit for the company

1. Which productline should be focused, if total sales can be increased by 20% for any one
product ing, )
_Revisedfigures | Total
Total Contribution
FC
Revised operating profit

2. Which productline should be focused, if Direct labour is in short supply
The company proposes to increase sale of any one productline by 20%, using the Direct labour
frog) other product line, by cutting down its Direct labour.
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And, for that you have to calculate contribution FC and revised operating profit.
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FC
Revised operating profit

2. Which productline should be focused, if Direct labour is in short supply
The company proposes to increase sale of any one productline by 20%, using the Direct labour
from other product line, by cutting down its Direct labour.

Revised figures | Total | A B
Incremental Contribution
Total Contribution
Revised operating profit
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In second part which product line should be focused if direct labour is in short supply.
Now, the company proposes to increase the sales of any one product line by 20 percent,
but they do not have any extra direct labour. So, using direct labour from the other line
by cutting down it is direct labor and calculate the incremental contribution etcetera for

this decision ok.

So, let us go ahead. First of all please do the basic calculation because we know the total
information; break it down into product line A and B. Simultaneously, we also have to
break down variable and fixed because we know that in marginal costing our emphasis is
on segregating variable and fixed costs and we write in a particular format. So, take sales
of each line; calculate the variable cost for that line and separate it into A and B; first of
all only variable cost you will get contribution from contribution reduce the fixed costs

that will give you profit ok.
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2
Profit & Loss account of
3 JSWISPAT Steel Rs.Cr.
4 Total  Product L Product Line
5 ; A%  B%
6 Net Sales | 11,105 70 30
| 7 Other Income 462 I
& Raw Materials | 7544 85| 35
9 Power & Fuel Cost | 193 80 20
10 Employee Cost 261 65 35
11 Other Manufact Expenses | 159 70| 30
12 Seling and Admin Expenses 23 85 35
13 Interest 180 '
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So, please calculate along with me. Now, this is the given data. Do not worry, I will not

show you solution so that you can solve it yourself.

(Refer Slide Time: 05:30)

I e Ki "alge E i [wo - = % )" wra
i sim 24 BEE EE ] -
A B c D E F G H I
52 The company proposes to increase sale of any one product line by 20%, using the Direct labour from ot
53 Total A B

54 Incremental Contribution

55 Total Contribution

56 Revised operating profi

57

58

|59 Soln. o r
60 Cument revenues and costs Current revenues
61 Total Product LProduct Line Total
62 A B A% TB%

63 Net Sales | 11,105 | 70 30 Sals | 1110
64 . " 4 . . { v "
65_Raw Materials | 7644 | | 65 35  |Malerials 764
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I have just shown you the structure.
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61 | Total |Product L Product Line
62 _ A B A%
63 Net Sales | 11105 7773 3331

64

65 Raw Materials 7644 4069 2675

66 Power & Fuel Cost 1993 1595 399
| 67 Employee Cost 251| 170| 91
68 Other Manufa Expenses 150 111 48
69 Admin Expenses 46| 30| 16
70 Selling Expenses [ 185/ 120/ 65
71 10288) 6,994 3294
n ' ‘ ,
73 Operating profit 816 779 3|
T8
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| Total
B%

0 30 Sales | 11,10
65 35 Materials| 7,64
80 20  Ful | 198

65 35  eCost 261
70, 30 Manufact 15
65 35  Expense 4
65 35 Seling | 18
) 10,28
Qperating 81
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To begin with for current revenue and cost total net sales are given percentages are given.

Please apply the percentage and compute the relevant cost for A and B.
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76 Current revenues and Variable costs

77 Total Product L Product Line

78 f A B VC% [TolalViFC

73 Net Sales | 11105 7773|3331 100[11105 0

80

81 Raw Materials 7644 4960|2675 100 7644 0

82 Power & Fuel Cost 1993 1276) 319 80| 1505 399

| 83 Employee Cost 81 119 64 70 183 78 [

84 Other Manufa Expenses 159 67 20 60 95 64

85 Admin Expenses 46 3 2 10 5 42

86 Seling Expenses 185 72 30 60 111 74

87 VC 10288] 6,505 3,127 9632 656

88 o

89 Contr
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Now, to do this you will have to first of all divide the variable component and then for

variable charge it to A and B separately, for fixed charge it to A and B separately. So,

what is the variable component of sales? Obviously, it is 100 percent and then you will

be easily able to charge the sales for A and B. Now, what is the variable component of



raw material? Again it is 100 percent; charge it in relevant proportion, getting it? Like

that you will have to go ahead.

For sales and raw material it is simple, but what will you do with power and fuel? First
of all you will have to look at the variable component which is 80 percent; compute the
total VC. So, total cost is 1193. No problem as far as sales and raw material is concerned
because they were 100 percent variable, but for power 1,993 only 80 percent is variable.
So, we have calculated 1595 as a variable portion of power cost and then you can apply

it to A and B; are you getting me?

The percentage of A and B is given in the problem; for raw material it was 6535 for
power it was 8020 and so on, getting it? So, what we have done is first of all we have
calculated the variable component and then 80 percent of that was the variable power
cost remaining is fixed. So, in sales nothing is fixed, raw material nothing is fixed, but

for power and fuel 399 is fixed, getting it?

Now, let us do it for all the costs for employee 70 percent is variable. So, you can
calculate the total variable and total fixed and then divide it has 119 and 64; for
employee cost you know the ratio was 65 to 35. For other manufacturing 60 percent is
variable; so, 9564 that 95 is again broken into A and B as 67 and 29. Admin only 10
percent variable; so, 5 VC and 42 FC, it can be broken as 3 and 2; for selling 60 percent
is variable. So, 111 and 74 divided as 72 and 39.

Now, at this stage you will be able to compute the total variable cost for the whole
company segregated into A and B, are you able to do it? You can cross check it for the
whole company the total variable cost is 9632 and total fixed cost is 656. VC plus FC
will match with the total right.
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79 Net Seles | M105 7773|3331 100/ 11105 O
80

81 Raw Materials 7644 4969 2675 100 7644 0
82 Power & Fuel Cost 1993 1276 319 BO| 1595 399
83 Employee Cast 261 119 64 70, 183 78
84 Other Manufa Expenses 150/ 67| 29 60, 95 64
85 Admin Expenses _ 48: 3: 2 10 5 42
85 Selling Expenses 185 72 39 60 111 74 !
87 VC 10288 6505 3127 9632 656
88

89 Contr 1473 1268 204

30 PV RATIO 013261 0.16318[ 0.06123

91 Contr/ DL COST
92
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Now, using this data compute the contribution because for most of the decision making
contribution calculation is anyway required. So, we will compute the contribution for A
is 1268, for B 204, total for the company is 1473, getting it? We have to take certain
decisions on product mix which product to focus on and so on for that this is useful. Also
let us calculate the PV ratio you know the formula contribution upon sales. So, PVR is

0.16 and 0.06 for A and B and 0.13 average, are you getting me?

Now, you can also complete this table for whole of the company without breaking into
fixed and variable. This particular calculation will be useful when breakup is only
product wise. So, they have given a particular breakup. So, based on that you can break it

down into A and B and compute the operating profit from A and B.

Please keep in mind that originally there were two more figures given that is other
income and interest other income has nothing to do with operations. So, please do not
include it in cost calculation; interest is a finance cost. So, that is also not included in
cost calculations, but the other cost calculations have been done. Have you got it? Any
questions? So, we have separately done for total cost we have also done it for variable

cost.
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28 Allindirect costs are fixed.

29 Admin, Qverheads are common costs and cannot be linked to product-ine
30 The break-up of other costs is given.
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32 Current revenues and costs

3 | Total Product L Product Line
£l ' A B
| 35 Total Employee Cost 261 170 91 |
36 Variable Admn Expenses 46 3 2
37 Variable Selling Expenses 185 72 39
38 Operating profit 816 779 7
33 PV RATIO 013261/ 0.16318] 0.06128
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Now, there were few questions which were asked: for current they have asked what is the
total employee cost for A and B and also total of the total? I think since now we have
calculated all the costs. You can easily take this figures and go for showing the total
employee costs, getting it? Same way you can record calculate the variable admin
expenses, variable selling expenses, operating profit and so on. For variable, go to the
lower table where we have separately shown the variable costs. So, admin, selling and

total, getting it?

Operating profit broken into A and B, here you can take the total operating profit. I hope
you are able to do with me and the last one was PV ratio. We have already calculated the
PV ratios both for the company as a whole and as per the product line ok. So, you will be
able to easily mention the answers for the first part if you do this to working notes

carefully.
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42 Advice on short term decision and
43 Compute resultant operating profi for the company

a4
45 1, Which product line should be focussed, if total sales can be increased by 20% for any one product lin
4 Total

| 47 Total Contribution ' I
48 FC '

43 Revised operating profit

50

51 2. Which product line should be focussed, if labour is in short supply

52 The company proposes to increase sale of any one product line by 20%, using the Direct labour from ot

53 | Total A B
54 dncremental Contribution
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Now, there is a decision making part; this was just the calculation.
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The decision making part says that which product line should be focused if total sales
can be increased by 20 percent for any one of the products. So, out of A and B which
product line will you choose? Will you go by operating profit or contribution or sales or
PV ratio? Here you can see all the information. I think most of you know that we will
emphasis on PV ratio because PV ratio in a scenario of limitation on sales will maximize

your contribution. Since fixed costs are anyway going to remain constant we will



emphasize on PV ratio and if you look at the PV ratio product line a has a better PV ratio

which is 0.16.

So, to respond to this question which product line will be focused? The answer is A and
now the question is what will be the resultant contribution. So, compute the total
contribution and the revised operating profit. Keep in mind that fixed cost is anyway not
going to change. So, what is going to change is only your operating only your

contribution which will change the operating profit.

Now, this product line a currently has a contribution of 1268. Just increase the
contribution by 20 percent, are you getting it? There is no need to do any other
calculation like new sales, new raw material cost, etcetera because whenever there is a
increase in sale of 20 percent in the same proportion you experience increase in the
contribution. So, compute the revised total contribution. So, what I will do is we will

take the current contribution, I think that will clarify it more.
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43 Compute resultant operating profit for the company
44
45 1. Which product line should be focussed, if total sales can be increased by 20% for any one product lin

46 | Tofal

47 Total Contribution 1726.31 147262 1268.48 204.138
48 FC 656.188

49 Revised operating profit 1070.13_A shd be focussed

| 50 |
51 2. Which product line should be focussed, if labour is in'short supply
52 The company proposes to increase sale of any one product line by 20%, using the Direct labour from ot
53 Total A B
54 Incremental Contribuion | | [
55 Total Contribution
56 Revised operating profit
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So, you are having total A and B current contributions. Now, the revised total
contribution is very simple to calculate. We will continue the current contribution and to
that add only 20 percent of A. So, revised total contribution becomes 1726; your current
fixed costs which is 656 is unchanged and the revised profit will be new contribution
minus fixed costs, so, 1070. What was your old profit? The old profit was 816. Now, this

20 percent increase in sales of A has led to new profit of 1070, are you getting me? So,



answer was which product line to be focused the answer is A should be focused and the

revised profit is 1070.13, fine.

Now, in the second part what has been asked is which product line should be focused if
labour is in short supply? So, what company wants to do is wanting to increase the sale
of one product by cutting down the labour of other product. So, out of the two products A
and B which product first of all will you prefer? Which product has a more rank? If
labour is in short supply. I hope you remember this is called as a decision making with

limiting factor or a key factor.

So, what will be your decision making factor? In question number 1, we had emphasized
on PV ratio, but in scenario 2 since labour is in short supply contribution per direct
labour will be your key decision making factor. So, let us calculate the contribution per
direct labour cost. We know the contribution individually for A and B. You also know the

employee cost now this is the variable portion of employee cost.
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85 Admin Expenses 46 3 2 10 5 42

86 Seling Expenses | 18 72 39 60| 111 74

87 VC 10288 6505 3127 9632 656

88

83 Contr 1473 1,268 204

90 PVRATIO 013261 0.16318 0.06128

91 Contr/ DL COST 106872 3.19412

| 92 ]
93

94 Contr 1473

95 LESSFC 656 ]

96 operating profit 816

97

98 1. Which product line should be focussed, if total sales can be increased by 20% for any one product line
9 Total Product LProduct Line
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So, it is nothing, but the direct labour cost. So, you can divide it and get the direct labour
cost contribution per direct labour cost directly separately for A and B. you will realize

that it is very high for A. So, A continues to be favorite.
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108 2. Which product line should be focussed, if labour is in short supply
110 The company proposes to increase sale of any one product line by 20%, using the Direct labour from ot

111

112 [ Total Product Product Line

113 _ A B

114 Net Sales | 9328 9328

|116 VC 70806 7806 E
117

118 Contr 1650 1522 128

119 LESSFC

120 Revised operating profit

121

122 direct labour original 118691 63.9107

ll}d ect labour revised 142.43 401724
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So, even in second part, the question was company proposes to increase the sale of which

product line?
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So, answer is A and it will increase the sale by 20 percent by cutting down the labour
from B. So, now, you have to calculate what will be the incremental contribution of A

and what happens what will be the revised contribution.



Now, in B portion what happens is first of all revise the sales of A. Your current sales of
A is 7773 it will increase by 20 percent. So, you can get new sales of A. When sales

increase the VC also increases in the same proportion.
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115 _ _

116 VC 7806 7806

117

118 Contr 1650 1,522 128

119 LESSFC

120 Revised operating profit

121

122 direct labour original 118,691 !
123 direct labour revised 142,43 40.1724

124 237383

125 Net Sales original 333146

126 Sales revised 2094.06

127

128 PVRATIO
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Now, this increase in sales comes to A which is 20 percent of sales, it will require extra
direct labour hour. So, we have worked out the original direct labor which is 118 revised
direct labor will be 142, are you getting me? So, 118 was the original direct labour from

our original calculation revised direct labour is to accommodate extra 20 percent of sales.

So, it will now require since it is variable it will require 20 percent more labour which is
142. Now, proportionately, since we want more direct labour to go to A, we will cut
down the labour for B in the same proportion in the by the same quantum. So, the
original direct labour for B was 63, you can find the difference between the two which is
23; that means, we are going to give 23 more labour to A. Now, the labour is in short
supply, it cannot come for free. So, we will reduce the labour from B. So, 63.9 is the
original labour for B. We will reduce it by 23 making it only 40 that leads to changed

sales for B.

So, the original sale for B was 333 point 3331.46. It will substantially come down to
2098; substantially means in the same proportion as we are cutting down the labour, are
you getting me? Quantum amount wise it would not be same, but proportionately it is

same. So, whatever is the proportion of 40 to 63 same by the same proportion their sales



comes down that is why the revised sales of B will be 2094 and in the same proportion
they would cut down their contribution. So, the original contribution from B which was

if you remember our last calculation which was 208, now has come down only to 128.
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120 Revised operating profit
121

122 direct labour original 118691 63.9107
123 direct labour revised 14243 401724
124 23.7383

125 Net Sales original 3331.48
126 Sales revised 2094.06

127 ¢ I

128 PV RATIO 007352 0.16318 006128
129
130 Contr 1522 1,522 0

131
Current revenues and

132 Variable costs
133 Total  Product L Product Line Product Line
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I will show some more calculations for clarity. You can also note their PV ratios and the
contribution so, 1522. Those of you want more clarification I have also this was done in

a short cut way.
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132 Variable costs
133 Total  Product L Product Line Product Line
134 A B B
135 Net Sales 111049 777341 3331.46 2094
136
137 Employee Cost 26086 118.691 63.9107 4017 639 062857
{138 VC 102884 6504.93 3127.32 Hz I
139
140 Contr 816.43 1268.48 204.138 128
141 PV RATIO 007352 016318 006128 0.06
142 Contr/ DL COST 106872 3.19412 319
143
144 D Labour shifted 237383 -23.738 -24
1454ngr contr 253,696 -75.823 76
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If you want to see the full calculation that has also been shown; see, this was the original
scenario. Now, product line B is facing a reduction in sales. So, from 3331 it becomes
2094. In the same proportion all of their variable cost will also come down. So, you can
see here there is a reduction in the labour available to them from 63 to 40 which is in the
ratio 0.62. So, their variable cost will also reduce in the same proportion, contribution
will come down to 128 ok. You can either do it by PV ratio or by contribution to direct

labour ratio.

So, what happens is direct labour shifted is 24, but the incremental contribution is minus

76; for B there is a loss of 75.82, but for A there is a gain of 253.89.
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141 PV RATIO 007352 016318 006128 0.06
142 Contr/ DL COST 106872 3.19412 319
143
144 D Labour shifted 23.7383 -23.738 -24
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|148 original operating profit B16 I
149 Inct in oper profit 177.873

150 Revised operating profit

151
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So, company as a whole gains by 177.87. So, the original operating profit which was 816
will increase by 177 and the revised operating profit is now 994.303. I hope you are
getting it? Now, they had asked us to compute a few things as to what will be the revised

operating profit.
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11
112 Total Product L Product Line
13 . A B
114 Net Sales 9328 9328
115
116 VC | 7808 7808
117
|118 Contr 1650 1522 128 I
119 LESSFC 656
120 Revised operating profit 994 g
121
122 direct labour original 118.691 63.9107
123 direct labour revised 14243 401724
124 23.7383
125:Net Sales original 333146
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Keep in mind, there is not going to be any change in the fixed costs. Total fixed cost will
be same and revised operating profit will be 993. We could do it in two ways. Here we
had done it in shortcut directly computing the revised contribution you get operating
profit or do this full calculation then also you get revised operating profit as 994. I hope

you are getting it?

So, in this case which is like a little detailed case we have seen how from the total you
can break down the portion related to A and B; how separately applied for VC and FC
and then a decision making scenario, one with the total change of sales, other with the
limiting factor where labour is a limiting factor. I hope this would have been a good

learning to you.

With this we will stop here [FL].



